

Office	Voting By	Number (District, Seat)	County Other Than Fresno	Incumbent	Nomination/Sponsors ' Signatures	Filing Fee	Signatures In-Lieu	Value Per Signature	Candidate Statement Pre-Payment Required	Term of Office (Years)	Term Begin Date
				UNITED STATE	S SENAI	JK					
US Senator	County Wide			Alex Padilla (D)	65-100	\$3,480.00	4,750	\$0.732631579	<u>N/A</u>	6	Tuesday, January 3, 2023
US Senator Partial/Unexpired Term	County Wide			Alex Padilla (D)	65-100	\$3,480.00	4,750	\$0.732631579	<u>N/A</u>	REMAINDER OF UNEXPIRED TERM	Tuesday, January 3, 2023
				US REPRESENTATIV	E IN CON	GRESS					
US Representative In Congress	By District	5	Amador, Tuolumne, Mariposa, Calaveras		40-60	\$1,740.00	1,358	\$1.281296024	\$2,080.00	2	Tuesday, January 3, 2023
US Representative In Congress	By District	13	Merced, Madera, San Joaquin, Stanislaus		40-60	\$1,740.00	1,358	\$1.281296024	\$1,600.00	2	Tuesday, January 3, 2023
US Representative In Congress	By District	20	Kern, Kings, Tulare		40-60	\$1,740.00	1,358	\$1.281296024	\$2,700.00	2	Tuesday, January 3, 2023
US Representative In Congress	By District	21	Tulare		40-60	\$1,740.00	1,358	\$1.281296024	\$6,000.00	2	Tuesday, January 3, 2023
			Note: State a	nd Federal offices have been upd	ated to co	nform with fir	nal state	e redistricting			



Office	Voting By	Number (District, Seat)	County Other Than Fresno	Incumbent	Nomination/Sponsors ' Signatures	Filing Fee	Signatures In-Lieu	Value Per Signature	Candidate Statement Pre-Payment Required	Term of Office (Years)	Term Begin Date	
CALIFORNIA STATE SENATE												
State Senator	By District	12	Kern, Tulare		40-60	\$1,197.02	1,358	\$0.881458	\$2,250.00	4	Monday, December 5, 2022	
State Senator	By District	14	Madera, Merced, Tulare		40-60	\$1,197.02	1,358	\$0.881458	\$3,000.00	4	Monday, December 5, 2022	
State Senator	By District	16	Kings, Kern, Tulare		40-60	\$1,197.02	1,358	\$0.881458	\$1,080.00	4	Monday, December 5, 2022	
			(CALIFORNIA MEMBER OF	THE ST	ATE ASSE	MBL	′				
State Assembly Member	By District	8	Inyo, Tuolumne, Mariposa, Mono, Madera, Calaveras		40-60	\$1,197.02	679	\$1.762916053	\$2,250.00	2	Monday, December 5, 2022	
State Assembly Member	By District	27	Merced, Madera		40-60	\$1,197.02	679	\$1.762916053	\$980.00	2	Monday, December 5, 2022	
State Assembly Member	By District	31			40-60	\$1,197.02	679	\$1.762916053	\$2,250.00	2	Monday, December 5, 2022	
State Assembly Member	By District	33	Kings, Tulare		40-60	\$1,197.02	679	\$1.762916053	\$600.00	2	Monday, December 5, 2022	
			Note: Stat	te and Federal offices are updated	d to confor	m with final s	state red	districting.				



Office	Voting By	Number (District, Seat)	County Other Than Fresno	Incumbent	Nomination/Sponsors ' Signatures	Filing Fee	Signatures In-Lieu	Value Per Signature	Candidate Statement Pre-Payment Required	Term of Office (Years)	Term Begin Date	
				CALIFORNIA ST	ATE OF	FICES						
Governor	County Wide			Gavin Newsom (D)	65-100	\$4,371.12	4,750	\$0.920235789	N/A	4	Monday, January 2, 2023	
Lieutenant Governor	County Wide			Eleni Kounalakis (D)	65-100	\$3,278.34	4,750	\$0.690176842	N/A	4	Monday, January 2, 2023	
Secretary of State	County Wide			Shirley N. Weber (D)	65-100	\$3,278.34	4,750	\$0.690176842	N/A	4	Monday, January 2, 2023	
Sate Controller	County Wide			Betty T. Yee (D)	65-100	\$3,496.86	4,750	\$0.736181053	N/A	4	Monday, January 2, 2023	
State Treasurer	County Wide			Fiona Ma (D)	65-100	\$3,496.86	4,750	\$0.736181053	N/A	4	Monday, January 2, 2023	
Attorney General	County Wide			Rob Bonta (D)	65-100	\$3,796.82	4,750	\$0.799330526	N/A	4	Monday, January 2, 2023	
Insurance Commissioner	County Wide			Ricardo Lara (D)	65-100	\$3,496.86	4,750	\$0.736181053	N/A	4	Monday, January 2, 2023	
Superintendent of Public Instruction	County Wide			Tony Thurmond (D)	65-100	\$3,796.82	4,750	\$0.799330526	N/A	4	Monday, January 2, 2023	
Board of Equalization District 1	County Wide			Ted Gaines (R)	65-100	\$1,639.17	3,338	0.491063511	N/A	4	Monday, January 2, 2023	
			Note: Stat	te and Federal offices are updated	d to confor	m with final s	tate red	listricting.				
	note: State and 1 Sector State and Sector State State (Sector State Stat											



Office	Voting By	Number (District, Seat)	County Other Than Fresno	Incumbent	Nomination/Sponsors ' Signatures	Filing Fee	Signatures In-Lieu	Value Per Signature	Candidate Statement Pre-Payment Required	Term of Office (Years)	Term Begin Date			
	FRESNO COUNTY JUDICIAL OFFICE													
		1		Brian M. Arax	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
		2		Hilary Chittick	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
	County Wide	3		Irene Luna	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
		4		Gary R. Orozco	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
		5		Timothy Kams	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
		6		Heather Mardel Jones	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
		7		Alvin M. Harrell, III	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
		8		Kristi Culver Kapetan	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
Superior Court Judge		10		Adolfo Corona	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
	Cour	11		Glenda Allen-Hill	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
	0	12		Kimberly A. Gaab	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
				13		F. Brian Alvarez	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023	
		14		Mark E. Cullers	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
		15		Ryan Wells	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
		16		Leanne L. Le Mon	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
		17		Samuel J. Dalesandro, Jr.	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			
		18		Charles J. Lee	20-40	\$2,250.74	4,517	\$0.498282	\$5,500.00	6	Monday, January 2, 2023			



Office	Voting By	Number (District, Seat)	County Other Than Fresno	Incumbent	Nomination/Sponsors ' Signatures	Filing Fee	Signatures In-Lieu	Value Per Signature	Candidate Statement Pre-Payment Required	Term of Office (Years)	Term Begin Date		
FRESNO COUNTYWIDE OFFICE													
County Supervisor	District	1		Brian Pacheco	20-40	\$1,287.61	2,037	\$0.632111	\$1,080.00	4	Monday, January 2, 2023		
County Supervisor	Ву D	4		Buddy Mendes	20-40	\$1,287.61	2,037	\$0.632111	\$1,080.00	4	Monday, January 2, 2023		
County Assessor-Recorder	County Wide			Paul Dictos	20-40	\$1,630.98	3,292	\$0.495437	\$5,500.00	4	Monday, January 2, 2023		
County Auditor- Controller/Treasurer-Tax Collector	County Wide			Oscar Garcia	20-40	\$1,761.64	3,555	\$0.495539	\$5,500.00	4	Monday, January 2, 2023		
County Clerk/Registrar of Voters	County Wide			James A. Kus	20-40	\$1,418.37	2,863	\$0.495414	\$5,500.00	4	Monday, January 2, 2023		
County District Attorney	County Wide			Lisa A. Smittcamp	20-40	\$1,944.53	3,925	\$0.495422	\$5,500.00	4	Monday, January 2, 2023		
County Sheriff-Coroner- Public Administrator	County Wide			Margaret A. Mims	20-40	\$1,911.06	3,857	\$0.495478	\$5,500.00	4	Monday, January 2, 2023		
County Superintendent of Schools	County Wide			Jim Yovino	20-40	\$3,272.91	6,606	\$0.495445	\$5,500.00	4	Monday, January 2, 2023		



Office	Voting By	Number (District, Seat)	County Other Than Fresno	Incumbent	Nomination/Sponsors ' Signatures	Filing Fee	Signatures In-Lieu	Value Per Signature	Candidate Statement Pre-Payment Required	Term of Office (Years)	Term Begin Date	
				CITY OF F	RESNO							
	ct	1		Esmeralda Soria	20-30	\$300.00	155	\$1.935484	\$800.00	4	Tuesday, January 3, 2023	
Council Member	By Distri		3		Miguel Arias	20-30	\$300.00	155	\$1.935484	\$800.00	4	Tuesday, January 3, 2023
Council Member				5		Luis Chavez	20-30	\$300.00	155	\$1.935484	\$800.00	4
		7		Nelson Esparza	20-30	\$300.00	155	\$1.935484	\$800.00	4	Tuesday, January 3, 2023	